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The following table shows the cumulative percentage distribution of the total number of visitors
to Kullu and Manali together and cumulative number of visitors to Kullu on five different days,
that is Monday to Friday. Based on the data in the table, answer the questions.

Day-wise Distribution of visitors
Dav Cpmula‘rix‘e percentage of iL(l‘urnulztti'\'e number of Visitorg
Visttors to Kullu and Manalifto Kullu

Monday 15% 360

Till Tuesday  p0% 1060

Till Wednesday[70% 1340

Till Thursday  [80% 1700

Till Friday ~ [L00% 1960)

Note: Total number of visitor to Kullu and Manali together in all five days is 4000
Sub questions
Question Number : 1 Question Id : 34212314068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total number of visitors to Manali on Monday and Wednesday is % of the number
of visitors to Kullu on Wednesday.

1.200

4.50

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average number of visitors to Manali on all the days except Monday?

1. 560

1]
e
i}
=

4. 450
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If 20% of the visitors to Kullu on Tuesday are foreigners and 40% of the visitors to Manali on
Friday are foreigners, then what is the total number of visitors to Kullu on Tuesday who are not
foreigners and to Manali on Friday who are foreigners?

1.920
2.776
3.984

4. 344
Options:
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average number of visitors to Kullu on Monday and Thursday is % less than the
number of visitors to Manali on Wednesday.

13329
2.63.89
3.67.44
4.50.28

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of visitors to Manali on Wednesday to the number of visitors to
Kullu on Thursday?

1%)

2.43

4.34

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314067 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Till Wednesday|70% 1340
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Sub questions

Question Number : 1 Question Id : 34212314068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIUGR 3R R Pl Heflcil & T &I el G §HdR Pl Gog b T ol GBI 6l
{1 Wi g7

1.200
2. 150
3.125

4.50
Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR Bl BISHR G el H 71l & Ted! $f Sigd T fdhdHi g2

1. 560
2.520
3.490
4. 450

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR 1 ee] o 20% T fa¢eit § T TR Bl THTelt d 40% Thed faei g,
TR P! e d d T fesil g1 ¢ 7u1 LhaR &1 THTelt o 4 Wed ol faeeil g, Bl
Gl U fobedl 2

1.920
2.776
3.984

4. 844

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR 71 TR @l Hecl & THCh! B 310 S §HaR &1 TNl & Ted] &l §e @l
e fde TIaerd (%) BH 2

1.53.29
2.63.89
3.67.44

4.50.28
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mﬂaﬁrmﬁﬂ%wﬁmaﬂmﬁm%Wﬁ@wﬁww

1962
2.43
3.2:9

4.34
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123553
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212314073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of learner centered Approach?

A. It lays emphasis on skills

B. It is centered on learner's needs

C. It 1s centered on cooperative determination of subject matter
D. Lays emphasis on variability of exposure

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A, Band C only
3.A.B.Cand D

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212314073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Il bi<d SUNH DI fa=ivdrt Fgfafad 9 &1 9 g2

A T BN R IASdl g

B. 48 MU THGC & ATaRUGdI3 IR dBid gidi g

C. Ug 99T Aridl & YedRI YR R Si<d 8idl o
D. U8 3191 &1 URAd-=Ndd R §d odl g

I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®Hadd C 3R D
HddA. B3R C

(o

A,B.C3RD
4. Had B AR D

Options :

[



1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a free and Open-source content collaboration framework based on
Javascript that enables existing CMSs and LMSs to create richer content?

|. H5P
2. Plotagon

3. Mindmeister

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

779 1 g offa fpp R 3R 98 B 91 e 9 e A 9] UgHR hodah § ol
AT Y1 0 T 31X U O 0 1 3Hfeleh T ferg- o ot Tl el T e aTer 82

1. H5P

. TN
3. HgSHERA

4, TR

Options :
1.1
2.2
3.3
4.4




Question Number : 8 Question Id : 34212314075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child of first class is trying to learn how to draw a circle on his own but is able to do with the
help of his/her teacher. In the light of Vygotsky's theory, it highlights?

. Assimilation
2. Adoption
3. Zone of proximal development

4, Maturation

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212314075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS 8T 1 U a1 T TR G &7 bl T X g ¢ o] oI 18086 1 g
T e o U7l | faTan! o gl o aireileh 0 fobl i el 2

1. THTHRT

R DORL
3. PR fapm &7
4. URUEA

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Project method of teaching was first propounded by.

1. Crow and Crow

(i)

. John Dewey

(el

. Robert Miller
4. Robert Mager

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRreror 1 ufvarsn fafer &1 fdured gduyA fogr fear ur
1. ST 3R oI

ol f&dt

3. ¢ fHeR

4. 3¢ UIR

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 10 Question Id : 34212314077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWAYAM is a programme initiated by.

|. Government of India

(i)

. National Council of Education Research and Training
3. University Grants commission
4. Indira Gandhi National Open University

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212314077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y (SWAYAM) foh &b gRT SR fohdl 781 Ueh HrihH 62
1. HRd TP

3. fayfaenery o ar 2T

4. ey riel ¥y Had fayfaemey

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 11 Question Id : 34212314078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a conclusion incorporates a casual relationship between two or more variables it has measured.

. External validity
2. Internal validity
3. Replicability

4. Conceptualisation

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212314078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i U IS &1 47 34fefe TR o i BRUNED Yeit] bl GAIAY Bl g ol G fehpT
YA X o g2

1. TR dYel
2. AR defaT
3. GRIgheid (Rteidsfafed)

4. AGYRUDRT
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An instrument used in structured observation that mentions the categories of behaviour to be
observed is known as.

1. Category schedule
2. Observation device
3. Observation schedule

4. Ontological tool

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Viefor & We gi-aTel 39 T Pl b 0 H o1 fel 8, S Uied fobt o ared
FER & q bl Jwhg HRell g7

CUEENEER)
2. D& e (f3arey)
3. VIefuT gt

1, TAHA® SIS ()

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Response of participants who are well aware of the fact that they are being studied is considered
as.

. Directed response
2. Intentional response
3. Desire effect

4. Reactive effect

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I WiMITT 1 Sfeha bl ol AT el €, ol 29 e Y Ui § b e IR o ofege
FRIEIRSE,

1. FG TR i
» IR o

3, qifad UHE
4. i TTeHE I

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are different tvpes of ethnography?

A. Classical ethnography

B. Mainstream ethnography
C. Post-modern ethnography
D. Private ethnography

E. Expressive ethnography

Choose the correct answer from the options given below:

1. A, B and C only

(]

.B. C and D only
3.C.D and E only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research makes use of.

1. Scaling

. Factoring

3

L

. Representative quotations

4. SPSS
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIEIURD 2N [HHepT ST Pl 82
1. 3FHIY (T i)
PR (G0 (Ha )

[

3. UfdMs IS0

4, T U THTY

Options :
1.1
2.2
3.3
4.4



Question Number : 16 Question Id : 34212314083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ancient times, the oral communication system operated in an environment that was.

|. Literate
2. Urban

3. non-representative

4. Mediated
Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui i | fdhd arrarl H HiRad GRISo Yollel &l GREferd faal STl 41

1. Y&

2. TR

3. 7R - faffed
4. H1eAd (HIfSTCS)

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Any study of messages at the recelvers stage is known as.

1. Communicator analysis

(i)

. Message analysis

(el

. Noise analysis
4. Audience analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui & IR0 IR Yo & fardl 4T e &l {69 =0 H S Sl 82
1. GRS [a%eu

2. Gaxl fazeyu
3. QIR fa=emor (Higs THIfeiE)
4. TR (3TSTY) fazemur

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are main functions of mass communication?

A. Detachment of individual from society

B. Indulge in message creation without worrying about moral consequences
C. Surveillance of environment

D. Transmission of social heritage

E. Correlating the parts of society in response to environment

Choose the correct answer from the options given below:
1. A, Band C only
2.C.Dand E only
3.A.Band D only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For preservation of their power the ruling elites seek from media channels.

1. Societal intelligence
2. Entrepreneurial partnership
3. Digital technology diffusion

4. Voices of dissent
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl 30! Al & TR0 g At aHal U 8 & 4 &1 9rgd g2
1. eI gfgadn
2. 3G HifleR

3. TefSed Uit faarur
4. [y BT TR

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212314087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Individual who live in a particular community develop distinctively patterned systems of
L. Information distribution
2. Media ownership
3. Media marketing
4. Information imperialism

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212314087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U oI Tegery e ol et eafeeal o e o © o 4 ot egw U] et orifera
fao i 81 ofel 62

1. G faeRT
2. Hifsr w@iffd
3. Wit fquur

4, qd-il <lHleddlq

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two persons X and Y invested 15,000 and 20,000, respectively, in a business. At the end of
the year, they share the profit in the ratio of 3:1. If X has invested his money for the whole year,
for how many months Y has invested his money?

1.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TGl X AR v < U oaw H R 2 15,000 3R 2 20,000 1 e foan| au & 3iq |
I Y Pl 3:1 B STt | e foran| 9 x 3 o e Bl FHT R b feru foar g at y
3 A B Y e AR o fau fa €

1.3
2.6
3.5
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain code language A is coded as Z, B is coded as Y. C s coded as X, and so on. How
‘PERFECT’ will be coded in that language?

1. KVIUVXG
2. KVIVUXG
3. KVIUVGX
4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @ HWI T A DI 2 &Y Hpedg (b1 TS, B Pl Y & ¥ 1 dess [T g,
B X T T hds (51T g AR SHITHR 3T Heds il T g1 Iad ¥ |
PERFECT" Pl ¥ B (g1 ST

L. KVIUVXG
2. KVIVUXG
3. KVIUVGX

4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum of money becomes 34800 in 2 years and ¥ 42,000 in 5 vears at simple interest per
annum. Find the rate of interest and the sum of money respectively

1. 6%, T 40,000
2. 7%, T 30,000
3. 8%, 230,000

4. 5%, T 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U YR 1 QYR ST 63 TR 2 a4 H 2 34800 3R 5 34 H 242,000 81 ST 5| oA
T & d 4RI J1d DI

1. 6%, 40,000
2. 7%, 2 30,000
3. 8%, 3 30,000

4. 5%, 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below?
1,7,16,28,43,61,827

1. 102

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad 4@ o ugdarEs &g (2) &1 SH 9 G uidwiiud e

1,7, 16, 28, 43, 61, 827

L. 1

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In an examination, average marks of six students is 50. However, during cross checking of the
papers, it is found that the marks of one student has been misread as 48 instead of 84. Find the
correct average marks of the students.

152
2.54
3.56

4.8
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U WRie ¥ B¢ faaiial o Jied 3ie 50 | It U1 1 O: i e o 7 i U
faeef & ofh] I 84 o W W Telelt 4 T feran 7 o1 | ferrfeat oo g 3t o 1l
DI

1.52

3.56

4. 58
Options :
1.1
2.2

3.3
4.4

Question Number : 26 Question Id : 34212314093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which informal fallacy is committed in the following statement “Famous actor Jimmy Pecker has
said 1n an interview that astrology s a real science, therefore scientists now must acknowledge
that astrology is actually a science."?

1. Appeal to Inappropriate authority

2. Red herring

3. Strawman

4. Appeal to Ignorance

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiRad e H I SIS b - 19 62
<TG SAHAT o U A T TYTHR H $gl g b S foqH U ardfd fag .
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1. TG TPR U 3G
2. YIHE Udhd (38 2T

3. 919 1 el (RTEH)

4. WIS e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are subalternate as per traditional square of opposition?

A. All plants are green organisms

B. No plants are green organisms

C. Some plants are not green organisms
D. Some plants are green organisms

Choose the correct answer from the options given below:

1. Aand D only

2.Band D only

v

3. Aand C only

4. Aand B only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad ® O 19 Y- 3y & URMRE 37 & 3Ulfyd g2

A. Gt Uy gRA g €|
B. Bl H1 U1y gRd Siid 181 §|
C. $9 UIqY gRd Sild gl 3 |
D. $% UlgY gRd Sild |
I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®ad A 3R D
2. Hdd B 3R D
3. hdd A 3R C

4. Hdd A 3R B

Options :




1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All cats are carnivorous animals

B. All non-carnivorous animals are non-cats
C. No cats are non-carnivorous animals

D. Some carnivorous animals are cats

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and D only
3.A. Cand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad # 9 o118 $y difhd U 9 Ad 62

A. Tt fafcerat e o €|
B. T4 TR - igRI U R - fafeedi g
C. By Yl faeedl TR - AiAeRI uxy gl ¢
D. $% Uil U fafcerdi B

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HId A, B3R C
2. $HddB, C AR D
3.PdA A, C 3R D
4.Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “all lions are carnivorous animals” is given as true which of the following
statements can be immediately inferred to be false?

A. No lions are carnivorous animals

B. Some lions are carnivorous animals

C. Some lions are not carnivorous animals
D. Some carnivorous animals are lions

Choose the correct answer from the options given below:

I.Cand D only
2. Aand C only
3. Aand B only

4. B and C only



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 39 e ] 2R IR U= ¢ 1 U o U 4 T T € ol e H ¥ o
G/ BU BT 3T & T 1 dleplfcrd S ol off T 7

A % TR AR R e ¢
B. §8 T AR TR ¢l

C. 39 W AWK T T3l ¢
D. T8 HiTgR T R ¢

i U fodedl 4 Y 9T SR P 99 DI
1. Badc 3R D

2. HIdA IR
3. Hdd A IR B
4, HaAB AN C

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212314097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per classical Indian school of logic (Nyaya) which of the following fallacy is committed when
the middle term is too wide?

. Anupasamhari
2. Badhita

3. Sadharana

4. Asadharana

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212314097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT HRTY T - 7 (A7) & 3R S He UG Sfcfiies fogd gid1 ¢ f 99
fafeiRad H T I dd - QN giell §2

1. SRR
2. 911

3. IHRY

4, YR
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following snapshot of MS-Excel worksheet:

A B E D
17|Day Quantity | Sales Amount (3)
18| Monday |1 234
19| Tuesday |3 144
20| Wednesday|6 367
21| Thursday |3 674
22| Friday § 1099
23| Saturday |3 233

In cell D18, the value returned by the function.
=SUMIFS (C18 : C23, B18 : B23, *“>3", C18: C23, “ >500") is

1. 1466

]

. 2140
3. 1773

4.26

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B |c D
17|fe&A HET | faepg i (3)
18|9HarR |1 [234

19[HTgaR |3 [144

]
f—
LA
L)

-1
N

[
Ly
L
[t
Lad
L3

Cell D18 H 99 e gRT oAt d Hed a1 82
=SUMIFS (C18 : C23, BI8 : B23, “>3", C18 : C23, “ =500")

l. 1466

[

2140
3. 1773
4. 26

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of Computer Networks, which of the following best describes the transmission of a
message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.
2. Data packets will always follow the same route and arrive at the same time in the same order

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order



Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Hedeh| b Ge 1, The R 1 T &R e U & Hafaied § 9 S i
U Yl

1. ST U fir - ot AT o et © 3R o oo # ot el R U Wb

2. 321 b ST Uk B T i1l 31K U 81 6 ¥ U 61 90y R Ul

3. 51 Udve GHT U g1 A1) offl W P 6 A - ol vl R U e
4. 51 Udhe fird - fot o] of el § U o 0 Uah 1 6 H Udh 1 90 R U1

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212314100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Number system?
1. The binary equivalent of the decimal number 57.625 1s 111000.101

2. (145)6 =(75) 10

L

. (1011), +(1001), = (20)10

4. (65)10=(220)s

Options:
1.1
2.2
3.3



4.4

Question Number : 33 Question Id : 34212314100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UITelt & Heel H 95 # 9 b G HY Tl ¢
1. G U7 57.625 DI fgaR ded 111000.101 B

[

: {145}6 = {75] 10
3.(1011); +(1001), = (20)1

4. (65)10=(220)s

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Read Only Memory (ROM) are correct?

A. The contents of the memory remain intact even when the power to the ROM is turned off
B. ROM is often used to store the start-up instructions when the computer is first switched on
C. As the ROM becomes full, the processor has to continually access the hard disk

D. ROM is a volalile memory

Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3. Aand C only

4 A B CandD

Options :
1.1
2.2
3.3



4.4

Question Number : 34 Question Id : 34212314101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

had U610 Wit (3R 311 TH) o Gelef ¥ gl § 4 b 4 6o Gl g2
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| A 3R B

2. HadB AR C
3. HaA AR C

4. A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about computers?

1. The quality of the pictures taken by a digital camera depends on its resolution, which is
measured In megabytes

2. USB stands for Universal Secure Bus
3. Microsoft Excel is an example of system software

4. The size of a computer monitor is measured diagonally across the screen

Options :



1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is used as a reference to measure the Global Warning Potential
(GWP) of a green house gas?

L. Carbon dioxide (CO,)
2. Methane (CH,)

3. Chlorofluorocarbon (CFC)
4. Hydrofluorocarbon (HFC)

Options :
1.1
2.2



3.3
4.4

Question Number : 36 Question Id : 34212314103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P B3 T 1 dfiieh o HToda (oft Saey i) 1 1O i fere fferieaa | 3 foerant
T & wu H T fdar o g

L, IS ST 3MTIZS (CO,
2. A (cHy)

3 L&

3. FARTRRIBTEH (CEC)

4. FEGIRRIDISH (HEC)

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212314104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal 7 is related to.

1. Gender Equality

[

. Climate Action

(]

. Affordable and Clean energy
4. Quality Education

Options :
1.1
2.2
3.3
4.4



Question Number : 37 Question Id : 34212314104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tdd faerg deg 7 frad gwafid g2
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(el
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Toxic substances that damage kidneys are called as.

|. Hematotoxic

3

. Neurotoxic

(]

. Cytotoxic’
4. Nephrotoxic

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG I & Uga dTdl fawred gl &1 fafofad H 9 a1 gl o g
1. gHTCICiagd
2. Rl D
3. ggeleliqyd
4, ApICiaaD

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Montreal Protocol is related to protection of.
1. Biodiversity

. Glaciers

b3

(]

. Oceans
4. Stratospheric ozone layer

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qifead Ureiald fhddb &1 H Traied g2
1. oId fafgerd

[

3. 9%

4. GHAIHS T 3ol WRd

Options :
1.1
2.2
3.3
4.4

[

Question Number : 40 Question Id : 34212314107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of organic pollutants in water.

A. Salts

B. Pesticides
C. Dioxins
D. Bases

E. Pigments

Choose the correct answer from the options given below:

1. A, Band C only

(]

.B. C and D only

LS

.C.D and E only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212314107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U BTeS (D) UgRd! & Hgfafad § o 9 Jaeru g

A, cIdu]

B. DI AR

C. Srafifayq

D. &R

E. 3oid (OTHew)

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT
. $dd A B AR C

2. HIA B, C IR D

3. $Had C. D IR E
4. HAAB. C AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212314108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Buddhist system of education higher education was placed at.

1. The first level

(i)

. The second level

(el

. The third level

4. The forth level
Options :
1.1
2.2
3.3



4.4

Question Number : 41 Question Id : 34212314108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L UYH IR
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3. A TR
4. 9qd &R

o]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a deemed to be university?

1. Perivar University, Salem

[

. Nagaland University, Kohima

(]

. Guru Ghasidas Vishwavidyalaya, Bilaspur
4. Gandhigram Rural University, Madurai

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

—a
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Question Number : 43 Question Id : 34212314110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is included among the core values promoted by NAAC (National
Assessment and Accreditation Council) among the institutions of higher learning

1. Framing National Education Protocols
2. Promoting religious education
3. Total Privatisation of education

4. Fostering global competencies among students and teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212314110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Fort William College?

A. Its medium of education was English

B. Lord Wellesley taught here

C. Ishwar Chandra Vidyasagar taught here

D. It was here that Ishwar Chandra Vidyasagar Studied along with Subhash Chandra Bose

Choose the correct answer from the options given below:

1. A, Cand D only
2.Band D only
3.A.B,C.D

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314111 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
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I [Su U fddhedl § 9 TgT IR &1 994 DI
|.hdd A, C 3R D

2. HadB AR D

3.A,B,C,D

4. HITA R C
Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to National Education Policy 2020, which of the following universal human values
will be considered as an integral part of holistic education?

A. Truth

B. Sympathy

C. Righteous conduct
D. Nonviolence

E. Scientific temper

Choose the correct answer from the options given below:

l. C and E only
2.B,Dand E only
3.A,C.DandE only

4.A,B,Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. BaqA. C.DIRE
4. BAAA B, C 3R D

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123554
Question Shuffling Allowed : No

Question Id : 34212314113 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



The field ecologist has played a key role in shining the light on the species we love and admire.
They have also underlined why conservation should not be just about caring for a few charismatic
species-the cats, elephants, whales, or Olive Ridleys. It's also about knowing the value of
creatures many of us might consider annoying, even dangerous. For millennia, communities have
attempted to protect animals and plants for practical and spiritual reasons. However, for around
two centuries or so, an anthropocentric view of the world created an ecological discord of sorts.
Utilitarian ideas began to dominate attitudes towards nature, which often meant that even
conservation had a strictly commercial purpose.

Modern environmental consciousness is perhaps about six decades old. In India, organisations
such as the Bombay Natural History Society date back to the late [9th century and the endeavors
of hunters-turned-conservationists played an important role in underlining the value of several
species. But systematic efforts in mainstreaming ecology began much later and owed much to the
works of pioneers like Salim Ali and M Krishnan,

Sub questions

Question Number : 46 Question Id : 34212314114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utilatitarian ideas started dominating attitudes towards nature about.

1. 2000 years ago

[

. 60 vyears ago
3. 100 years ago
4. 200 years ago

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212314115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Modern environment consclousness Is.

1. ~ 20 years old

(]

. ~ 40 years old

(]

. ~ 60 years old
4. ~ 100 years old

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the charismatic species based on the information given in the passage.

A. Deer

B. Whales
C. Elephants
D. Dogs

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212314117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements.

A. Conservations is all about caring for the species we love and admire
B. Communities have been living in ecological harmony for the last two centuries

C. Field ecologists have contributed to our understanding about the value of different species in
our lives

D. Salim Ali is considered as pioneer in India in the field of mainstream ecology
Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3.Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communities have been involved in the protection of plants and animals for the last.

L. Several thousand years
2. 200 years only

3. 60 years only

4. only recently

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314113 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212314114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SYAifaEre] fGaRi = Ha Udid & Uid AAIaREl R Yad g1 TR fdar 2
1. 2000 94 Ugdl

2. 60 9N Ugd

3,100 99 Ugd
4,200 9N Ugdl

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 34212314115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yfd gafarvig I &:
1. ~ 20 94 QR

 ~ 40 99 QR

.~ 60 98 QR

.~ 100 Y QR

Options :
1.1
2.2
3.3
4.4
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Question Number : 48 Question Id : 34212314116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT
B. &l
c. gt
D. T
I fu TTU fddhedl § O a1 3R &1 994 HISIU:

1. hdd A 3R B
2. HAdB 3R C
3.$ad C 3R D
4.Hdd A 3R D

Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212314117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.99qC IR D
4 $AIA IR D

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1




2.2

3.3
4.4

Criminology
Section Id : 342123187
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123555
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212314119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Embezzlement' is a type of which of the following crimes?

1. Cyber crime

[

. Corporate crime
3. Hate crime

4, Transnational Crime
Options:
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212314119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following said that “a society composed of persons with angelic qualities would
not be free from violations of norms of the society™?

1. Emile Durkheim
2. Eredrick Pollack
3. William Blackstone

4. John Gillin

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212314121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following defined crime and stated that “Crime” is an act which offends the basic
sentiments of *pity” and “probity’?

1. Paul Tappan
2. John Gillin
3. Raffaele Garofalo

4. Donald Taft

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212314121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Alcoholism, drug addiction, beggary and commercial sex are associated with
1. Crimes against property
2. Crimes against person
3. Crimes against the State

4. Victimless crimes
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HEI I, Hled god oad, fHengfd iR A d aaR 9 ¥efia]
1. I & foeg Sy
2. i o fd g Ry
3. AAfARI STy
4, UifS oM SRy

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT the right of a victim of crime in a criminal trial?

. to produce evidence

2. not to participate in negotiations in compoundable offences

3. to know the status of the investigation

4. the victim can appeal against any adverse order passed by the court

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following place is NOT permitted for obtaining a statement of the rape victim
by a woman police officer?

L. at the residence of the victim
2. in a place of police officer's choice
3. in a place of victim's choice

4. n the presence of victim's parents or guardians

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Designing of building and structures to prevent the occurrance of crime is known as

1. Crime Prevention Through Deterrant Punishment
2. Crime Prevention Through Environmental Design
3. Crime Prevention Through Reformation

4. Crime Prevention Through Community Servicing

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following, authored the book “Society, Crime and Criminal Careers™?

1. Don Gibbson
2. Elmer Johnson
3. Sue Titus Reid

4. M.J. Sethna
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is associated with “Biological Determinism™?

|. Cesare Beccaria

]

. Jeremy Bentham
3. Auguste Comte

4. Cesare Lombroso
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 60 Question Id : 34212314128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following theory of criminology assumes that supernatural forces cause and control
crime commission?

1. Economic theory
2. Anomie theory
3. Demonological theory

4. Concentric Zone theory

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following criminological theory postulates that 'behaviour depends on the person's
experiences with rewards for conventional behaviours and punishment for deviant ones'?

. Differential Association Theory
2. Differential Reinforcement Theory
3. Neutralization Theory

4. Labelling Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 62 Question Id : 34212314130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following criminological theory emphasizes crime control through mediation and
conflict resolution strategies?

. Postmodern Theory
2. Structural Critical Theory
3. Peacemaking Theory

4. Power-Control Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212314130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FEeRad H T B 1 3R - GRS R HeRal 3R Goy e Uil & A1
T YR I R 6 ol 82

. TR - ey g

2, WD A eTS g
S
4, i - A g

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the major premise of criminology?
1. Criminals are revolutionaries and the real crimes are sexism, racism, and profiteering.
2. Law Is designed to sustain the capitalist economic system.

3. Class conflicts create crime.

4. Capitalist means of production creates class conflict and crime is a rebellion of the lower
class.

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frrecferfRad ® 9 I T SfuTY - faRITT T TR 62
1. S{RTE b1 Bl & @I fefrare, UetifTe Sk GIhTa] dRdidd oY g
2. BT &I Yoltard! e Torrell & QYR o foft feas fdar g |
3. 31 G 3{IRTY i ] Rl g

4. FAIEHA & Yoltard! T1eM o7l Gou] &1 T 6 § SR SR 7 a1 1 f[dslg ¢

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a factor of crime, as per the Routine Activities Theory?

1. The availability of suitable target
2. The absence of capable guardian
3. The function of victim's lifestyles

4. The presence of motivated offenders

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o o @ S 91 e Tiafafil g & YR JW1Y 61 U6 SRS T3 o7
1. JUY T I JUTaRIT
2. &M WD B U
3. UiTSa B Sliaifcrl & &
4. SR SRl B Sufdfa

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following crime control strategy is aimed at making potential criminals fear the
consequences of crime?

L. Situational Crime Prevention Strategies
2. General Deterrence
3. Specific Deterrence Strategy

4. Incapacitation

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following sociologists popularized the Social Disorganization Theory?

. Clifford R. Shaw and Henry Mckay
2. Richard Cloward and Lloyd Ohlin
3. David Matza and Gresham Sykes

4. Melvin Ray and William Downs

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Confession made by the accused is admissible in the court of law, when it is made:

1. by inducement

2. by threat

3. to a police officer

4. 1n the presence of a Magistrate

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The new criminal laws - Bharatiya Nagarik Suraksha Sanhita 2023, Bharatiya Nyaya Sanhita
2023, and Bharatiya Sakshya Adhinivam 2023, are implemented in India w.e.f.;

1. Lst of June 2023
2. Ist of July 2023
3. lst of June 2024

4. Ist of July 2024

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following section under Bharatiya Nagarik Suraksha Sanhita (BNSS), 2023 deals
with “Information in cognizable cases™

1. Section 154 of BNSS
2. Section 135 of BNSS
3. Section 173 of BNSS

4. Section 174 of BNSS

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Wl TR TR Wil (ol 07,09 08), 2023 I FBfREd o1 W 4R1 T Al |
Y Gt g

1. S 0. 00.09. D YR 154
2. o G000, B 4R 155
3. 91 U1 0H.UY. I 4R 173
4. 91 T TH.0Y. Ol 4RT 174

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a electronic document record?

. Documents on computers

3

. Voice mail messages

(]

. Server logs
4. An inscription on metal plate

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 71 Question Id : 34212314139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is NOT legally authorised to take evidence in the court of law?

l. Judges
2. Magistrate
3. Arbitrators

4. Tuvenile Justice Board
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is associated with “Mec Naugten Rule’, while committing a crime?
. Free-will
2. Utilitarianism
3. Diminished Responsibilities

4. Doli-incapax

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT an ethical requirement in criminological research?

1. Informed consent
2. Confidentiality
3. Generalization

4. Anonymity

Options:
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A list of elements in a population that is used to select a sample is known as :

. Population parameter
2. Sample statistic
3. Sample element
4. Sampling frame

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a measure of central tendency?

1. Standard Deviation

2. Mean

(el

. Median

4. Mode
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Data Analysis which involves analysis of data collected and processed by one researcher and
reanalyzed by another is known as

. Bivariate Analysis
2. Secondary Analysis
3. Multivariate Analysis

4. Regression Analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following component is not included in the deductive approach method of scientific
research?

. Generalization
2. Grounded Theory
3. Hypothesis

4. Observation

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Who among the following proposed the ‘panoptican’ design of prison?

1. John Howard

[-2

. Enrico Ferri

LS

. Jeremy Bentham
4. Charles Gorring

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

is a procedure by which a convicted person is released by the court without
imprisonment subject to condition imposed by the court,

1. Parole
2. Restitution
3. Probation

4. Incarceration

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following theory holds that delinquency is transmitted through personal and group
contacts and lack of effective social control agencies?

|. Merton's Anomie Theory
2. Frederick Thrasher's Gang Theory
3. Shaw and Mckay's Cultural Transmission Theory

4. Albert Cohen's Working-Class Boy and Middle-Class Measuring Rod Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the Juvenile Justice (Care and Protection of Children) Act, 2013, a ‘child” means a
person who has not completed of age.

1. 16 years
2. 18 years
3. 21 years

4. 23 years

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 34212314150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following could NOT be a member of the Juvenile Justice Board?

1. Metropolitan Magistrate
2. Judicial Magistrate of First Class
3. Child Welfare Police Officer

4. Social Worker
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212314150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4
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Question Number : 83 Question Id : 34212314151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tenure of the member of a Child Welfare Commuittee is:

l. 2 years

b3

. 3 years

Question Number : 83 Question Id : 34212314151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 34212314152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child alleged to be in conflict with law is placed under the charge of which one of the following
person, after being apprehended by the police?

1. Probation Officer
2. Parole Officer
3. District Magistrate

4, Chuld Welfare Police Officer

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Tuvenile Justice (Care and Protection of Children) Act 2013, which of the following is
NOT a criteria for sponsorship of children?

|. Where children are dropout from school
2. Where mother is a widow or divorced or abandoned by family
3. Where children are orphan and are living with the extended family

4. Where parents are victims of life threatening disease

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When victims act provocatingly using threats, fighting words and even attack first is known as:

. Passive Precipitation

2. Active Precipitation

3. Victim's Lifestyle

4. Victim's Routine Activity

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o1 Ui 4T gRT, TS RT3 SHIehH GRS BT H1 B § 3R gl bl

1. fATtspd T

2. QT T

3. ifgd bt oflg el

4, W3 1 e wfafafy

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following victimization theory advocates that victims trigger criminal acts by their
provocative behaviour?

. Deviant Place Theory
2. Lifestyle Theory
3. Routine Activities Theory

4. Victim Precipitation Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a theme under the UN Declaration of Principles of Justice
for Victims of Crime and Abuse of Power (1985)?

1. Access to Justice and fair treatment
2. Restitution
3. Compensation

4. Incarceration

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ol 31t U (1985) b 3fvicl U faw =g g2

1. 10 3R 3 SR T Ugd
2. YR

3. 3(Tal (W)

4, TRIH

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Any contribution made by the victim to the criminal event, especially one that led to its initiation
is known as ;

1. Victim Hindrance
2. Victimogenesis

3. Victimology

4, Victim Precipitation

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ORI T 1 Sd gRI fhan T fbell TR b1 ATeH, [9y &0 9§ UHT OiTeH forde
HRU 3] TEH G, & &0 T S A1 ¢

1. Gifsd e (fafdem i)
), BiiSdiafia (afdenioHiym)
3. fafdenieiolt (difgaama)

4. UifSd &1 T

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following theory suggests that crime victimization is likely to occur when
motivated offenders, lack of capable guardianship, and suitable targets coalesce in time and
space?

. Social Learning Theory
2. Routine Activities Theory
3. Control-Balance Theory

4. General Theory of Crime

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fgfciid H O dH - o1 fligid Sbfad & ¢ fd oy O Salis &1 dwia gu R o
glcit & o Ui SR, Jmed SifHIad! BI Bl R ST 8T, T R H gl
(AFHfeTd) §1 1 &2

1. i ST gl
2, e idfafet figid
3. 0T - Yo i
4. TG 3Ty gl

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence how a case of child in conflict with the law proceeds in the Juvenile Justice System:

A. Sending to special home
B. Observation home

C. Juvenile Justice Board
D. Apprehension by Police

Choose the correct answer from the options given below:

l.A,B,C,D
2.B,D,C,A
3.D,B,CA

4.D.C,B,A

Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212314159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 T oy Y o TR = yorredt oty o e e ! FRufa o e el T el
Y S TG

IMCELDRER T
B. W&V
ACEILENE]S

D. et !l fgerat
i feu U fodetl # T W@t T 61 99 DT

LLAB,.C,D

2.B,D,C,A
3.D.B,C.A

4.D.C,B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequence the following as they happen in the Criminal Justice System :

A. Sentencing to institutional treatment
B. Release on Probation

C. Fails conditions of probation

D. Found Guilty

Choose the correct answer from the options given below:

1.B,D,C,A

[-2

.D,B,C,A
3D C B A

4. A.B,C,D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[RTIRET I 39 e H S e ol d ORI A Julell Hgid g -

A. GRIFTA JUER F G0SIGT ol

B. URGIET R BISTSH

C. UREIE &1 2l & UIeH H 3% 3odl o
DRALIRIBIRIE]

A ST TTU 9 ed! H Y JgT IR &l 98 Bifo:

1.B,D,C,A

2.D,B,C,A
3.D,C,B,A
4.A,B,C,D

Options :
1.1



2.2
3.3
4.4

Question Number : 93 Question Id : 34212314161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence the following steps in correctional administration:

A. Classification

B. Admission

C. Treatment

D. Orientation to activities
E. Pre-release activity

Choose the correct answer from the options given below:

1. B DA CE

[

A DB CE

L

A B DU E
4. E.D.C, B, A

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YURIAD UG & HaiciRad =Rol & b 1§ Haeyd o3 -

A. B0

B. Ud¥l

C. JUdiR

D. TfafaieEl & ufd sfHfa=arg
E. R - gd Tfafafe

= lGu U faheal § O gt IR 1 991 DIl

1B 1) A K F

(]

ADB CE

[

ABECDE

4. E.D.C, B A

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in sequence as criminological research is conducted :
A. Tool finalisation
B. Report writing
C. Proposal writing
D. Pilot study

Choose the correct answer from the options given below:

1. C.4,. D, B
2.B,A,C,D
3.AB,C.D

4.D.C.B A

Options :



1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeiRad &1 3RTY — aTd YU T Udie & hH H FHaied o1 -
A. B 3ff=H Hoig
B. Ufdded o
C. VRTd ogH
D. Wi 3feagH

A feu U 9 eui § ¥ 98T IR 1 994 DI

1. C.A DB

2.B,A,C,D
3.A,B.C,D
4.D.C.B A

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in Criminological research:

A. Hypothesis formulation
B. Data collection

C. Objectives

D. Sampling frame work

Choose the correct answer from the options given below:

1.A,B,C,D

(o

.B,A,D,B

(5]

CA, DB

4.D.C.B.A

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ORI ISP STHYUM T RN bl AU Y -

A. UTgh T FATHRT
B. SIcT U8

C. 35

D. Ufd<d4 UtyR

I feu U 9 el § U T 3R &1 994 DIfSIU:

1.A,B,C,D

(]

B.A DB

(5]

CA DB
4.D,C,B,A

Options :
1.1



2.2
3.3
4.4

Question Number : 96 Question Id : 34212314164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence how a case is investigated by the police :

A. Inquiry by police

B. Investigating Officer report
C. Visiting scene

D. Written examination

Choose the correct answer from the options given below:

1.A,B,C,D

-2

AC. DB

s

AT B

4.D.C.B.A

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



9T 1 Ha Ry &Y foh s e U Al / eVl b1 Uferd gRT id-U gl ol Wil g

A. e T 31

B. 304 S¥IER] &1 Hidded
C. 9T - Ty FRgm

D. TI&J1/7TTg T IR

I U e fodedl 44 W8T SR @1 90 BT
I.A,B,C,D
ZACHB
3.C,A DB
4 PEB.A

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence the following as they are done in the Criminal Justice System:

A. Sentencing

B. After Care

C. Found Guilty

D. Convicted to prison

Choose the correct answer from the options given below:

LA B

[-2

5, BC. 1D

T

.D,C.B.A

4.C,A,D,B

Options :
1.1



2.2
3.3
4.4

Question Number : 97 Question Id : 34212314165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafeiad oI 39 3FH § afyd & forg d SR Ir ol J fhu 3d 6

A. TUSTGY &l
B. IR WY

C. N1 T S
D. BRIA Uy

fd fGu e fadedi § 4 FgT SR B 994 DIl
1.A,C,D,B
2.8 B.CDH
3:D.C,B;A
4 C,A DB

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequence how a Criminal Trial Proceeds :

A. Examination in-chief
B. Found Guilty

C. Charge sheet

D. Cross examination

E. Sentencing

Choose the correct answer from the options given below:

1.E. B, I AC

(]

A DB E

5]

JE B B A
4. A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3T H HaRYd B b [hY UBR AR fadR0 HRATS Bl Sl 8

A. T8 TR1ed
B. QY O

C. 3RITTH

D. Ufqudien

E. QUG &1

14 feu U fadhedl § 9 @87 IR &1 99 Hifoit:

1.E;B, D, A, C

2CADBE
3.E,B,D,C,A

4.4 B, C,D. E



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How does the sociological explanation appear in Criminology?

A. Social Reaction Theories
B. Social Structure Theories
C. Social Control Theories

D. Social Learning Theories

Choose the correct answer from the options given below:

1.0, B, C. A

e B DG R

LS

.D,C.B.A

4.A,B,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



URTY — I H THSIRIRATT IR Y UHR Udhe gl g 2

A. GG Uididhar g
B. YA T [gT
. grErsie dider Rigrd
D. YIS HERTH Rig=d

I feu U f[ad el § U T 3R &1 994 DI

.D,B,C,A

[

.B,D,C,A

(5]

BE B A
4.A,B,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following concepts as it appeared in Criminological literature:

A. Anomie

B. Animism
C. Attachment
D. Atavism

Choose the correct answer from the options given below:

1.D,B,A,C
2.A,B,C,D
3. D08 A

4.B,D,AC

Options :
1.1



2.2
3.3
4.4

Question Number : 100 Question Id : 34212314168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIRTCIRG SR Pl 38 HbR ad e oY d IRTY - dgiHe drg g ¥ Uehe gidl g -

A. rfer ()

B. SHidedRII0 (UHAeH)
C. 3fdd

D. FIIA JT05d

id feu T fadedl 4 Y @81 SR 31 95 il

.D,B,A,C

2.A,B,C,D
3.D,C,BA
4.B.D,A C

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following concepts in chronological order as they appeared:

A. Attachment

B. Goals and Means
C. Normlessness

D. Altruistic Suicide

Choose the correct answer from the options given below:

1.A,B,C,D

[-2

.C,D,B,A

L

B G, By A

4.C,D, A, B

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad SaURUN3T Bl 39h e giH & DIADHH H Hafed B -

A, Yfad

B. &g 3R TIeH
C. U
D. WY ATHZAl

I flGu U fadedl § O @87 3R &1 994 DIl

1.A4,B,C, D

[

G DB A
3.D,C,B; A
4.C,D, A B

Options :
1.1



2.2
3.3
4.4

Question Number : 102 Question Id : 34212314170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sequence the following psycho-sexual stages of human development:

A. Phallic Stage
B. Oral Stage

C. Latency
D. Anal Stage

Choose the correct answer from the options given below:

1LAB,C.D

-2

D.B.A C

LS

.D.C,B.A

4.B.D.AC

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



4 T &I Fafdad a1 - dfiid sfawrs &1 3hd 1 Faieyd o

A, IfE 3Aaw
B. HIRA® 3G
C. DAYY
D. &1 TR
1 G0 U [9dhel © ¥ §gT 3R &1 99 BIU:

1.A,B,C,D

2.D,B,A,C
2 G, By A

4.B,D,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories of crime as they appeared:

A. Lombroso, Ferri, and Garofalo's explanation
B. Bentham and Beccaria's Explanation

C. Karl Marx explanation

D. Pre classical school

Choose the correct answer from the options given below:

LB DR

(o

.D.C. B, A

(5]

D, B,AC

4.A,B,C,D

Options :
1.1



2.2
3.3
4.4

Question Number : 103 Question Id : 34212314171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HRTY & Hfeiad Rigl &1 3 Udhe gH & HUIR Jafedd o1

A. TSI, Ul 3R TRl & IR
B. 9H 3R 9aH1RYT B RS

C. I HIgH DI IR

D. Jd - QR

A U TN [ddeul § 9 @87 IR &1 9094 PifTu:

1.B. DA C

2.D.C.BA
3.D,B,A,C
4.A,B.C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sequence the following svmptoms of alcoholism as it progresses:

A. Detoxification

B. Relapse Prevention

C. First exposure /experience
D. Increase in tolerance

Choose the correct answer from the options given below:

1 BB, A&
2.C,D,A,B
5. AR ED

4.D,B,C, A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T HdT & d&f0l &l 3961 Wifd & 3 H H Tareyd $Hi:

A. fAfddimRor

B. T-RIdd HaR

C. UYH FGI/3Hd
D. Yg-xiiadl § gfs

I feu U 9 el § U T 3R &1 994 DIfSIU:

. DoC.BA&

2. DA DB
3.4 B,GCD
4.D.B,C. A

Options :
1.1



2.2
3.3
4.4

Question Number : 105 Question Id : 34212314173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following as the disease of alcoholism progresses:

A. Chronic Stage

B. Social Stage

C. Experimental Stage
D. Regular Stage

Choose the correct answer from the options given below:

1B, B, A

-2

JG B, Bk

s

A B D

4.B.C.A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafafad & Tereagf=dr & A S WIfd & IR Tafed i

A Sl0f 3rgeyl

B. GMHIfSIdH T
C. WIS fael
D. FTfad aw1

I feu U f[ad el § U T 3R &1 994 DI

1. DCB A&

[

G, Bk

(5]

. A,BE, D
4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are part of organised crime?
A. Racketeering
B. Syndicate Crime

C. Domestic Violence
D. Child Abuse

Choose the correct answer from the options given below:

1. A and B only

(o

.B and C only

(5]

.C and D only

4. D and A only

Options :
1.1



2.2
3.3
4.4

Question Number : 106 Question Id : 34212314174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaRad ® 9 o 9 Iied 3Ry & g 82

A. B - FMUR
B. [iSIdhe 3

c. TR fg
D. ST 20

A [SU T fadmedl H ¥ T 3R &1 994 HIfoIU:
|. ®hdd A 3R B

2. HadB AR C
3. $Hdd C 3R D
4. haAD 3R A

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Domestic violence refers to:

A. Physical violence
B. Tagging

C. Sexual violence
D. Hedonism

E. Emotional Abuse

Choose the correct answer from the options given below:

1.C.D. E only

(]

.B. C,D only

5]

.A,B. Conly
4. A, C,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

mﬁm GAREL %

A, IRIRS fgar
B. 94 - YOI AT T
c. g fgary

D. §@die 9
E. HIGATHD GldgR

- feu T fadetl § ¥ 8T IR B 90 DI
1.HdAC. D, E

. $HddB.C,D

. HAT A, B, C

4. PIAA.C.E

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Corporate Crimes are committed by:

A. Drug Addicts
B. Women
C. Influential individual within corporation

D. Corporations as a whole
E. Children

Choose the correct answer from the options given below:

1. A. B only

b3

.B. C, only

[

.C,D only
4. D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HRURE R [AYIRId & gRIfHU S § -

A. Hlcd g gl gRI
B. Afgafl gRT
. 1 (BPRURRMA) & 3icx &1 gl WHIEITe! HAfdd

D. Yol fy
E. ¥«

A feu U {96 edl § 9 §g7 IR BT 99 DIfSIT:
1.hdd A. B

. $dd B, C

$HddC.D

4. Hdd D, E

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 109 Question Id : 34212314177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are related to Teritiary Crime Prevention?

A. Identifving potential criminals
B. Boys club

C. Economic Subsidy

D. Prison Sentence

E. Correctional Process

Choose the correct answer from the options given below:

1.D. E only

I3

. C.D only

T

.B. C, only

4. A, B only



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafalRgd d 9 oH - 9 Jdiae 3aR Haror 9 geied ¢

A, TYT R BT g HA]

B. 9109 dald

C. 3P eIl (3HHIHS disha!)
D. HRITR &I oIl

E. GUR D Gt ufchar

Hid feu U fqdedi § U ol IR &1 99 I
. HddD. E

2. Hdd C.D
3. HddB. C,
4. H9AA.B

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following constitute sub areas of criminology?

A. Theory Construction
B. Criminal Statistics
C. Penology

D. Soclology of Law

Choose the correct answer from the options given below:

1. A, B only

(o

.C,D, only

(5]

.A,B,C,D only

4. A, B, Conly

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FEfaRad § O H1H-9 3uR fagiE & IualEf &1 (oid &d g2
A. T9gid & geHE gRI
B. ATRIYE 3Hhal gRI

C. CoYRd R
D. faf¥ & TR

A fGu e fadetl & 9§ HgT IR D1 9G1 BISIT:
I.hdd A, B

HadC.D

3. Hdd A, B,C,D

4. HAd A, B, C

Options :

(o



1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Community Policing involves which among the following?

A. Helping Communities

B. Decentralizing Policing

C. Responsive to local Citizens

D. Problem oriented approach to Policing
E. Partnership working

Choose the correct answer from the options given below:

1.A,B,C,D,E only

[

.A,B, C,D only

5]

.A,B. Conly
4. A. B only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qrHcTe i | aferad # 9 o - 9 i g2

A. G &l Ggradl &l
B. [qh=< 0T TIRiT

C. RHT ARG & Ufd ARl g
D. GfARiT & ufd TH - 3799 P07 @0
E. UBIGRI H &/ &l

A feu U [qdeti § 9 a7 IR &1 99 HISIT:
l.hdd A, B,C,D,E

. $Hdd A, B, C,D

. $Hdd A, B. C

4. HId A. B

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 112 Question Id : 34212314180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Biological Positivism is related to:

A. Human Physiology
B. Hedonism

C. Positivism

D. Utilitarianism

E. Human Biology

Choose the correct answer from the options given below:

1. A, B, Conly

(o

. A, C,E only

5]

.C,D, E only

4. A, B, D only



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sita {9 el FHyardadr 81 gs o

A. HHE IRR gAY
B. g@dic 4

C. UHediG 4

D. SYAIRTAEG 4

E. HHd SildfdgE I

Hid feu U fqdedi § U ol IR &1 99 I
. Hdd A, B. C

hddA.C.E
HAdC.D.E
4. H9d A.B.D

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 113 Question Id : 34212314181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are cognitive functions?

A. Unconscious conflict
B. Mood disorders

C. Thinking

D. Planning

E. Perception

Choose the correct answer from the options given below:

1. A, B, Conly

(]

G, D, E-only

5]

.B. C, D only
4. D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfiRad U »H-U U9HrdS b g2

A. 3EIYUE a1y
B. AHIGN daei [dhR
c. Fiad
D. AISHET
E. 3[dYRO]
i feu MU fadhedl © O gat 3R &l 994 SHifoie:
. Hdd A, B. C
$Hdd C. D, E
. HddB.C.D

4. H9dAD. E

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are Miller's Lower Class Focal concerns?

A. Toughness

B. Smartness

C. Excitement
D. Fate

E. Autonomy

Choose the correct answer from the options given below:
1. A and B only
2. A, B,Conly
3.A,B,C,Donly
4.A.B.C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafaiRad 7 9 -9 iR & fFed o 9 96fid WaRr 82

A. &l (H3TUH)

B. SgHIAdl
C. 3lle

D. HI'Y

E. WOl

A feu U [qdeti § 9 a7 IR &1 99 HISIT:
1.Hdd A 3R B

. HAd A, B, C

. $Hdd A, B.C.D

4. HddA.B.C.D.E

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 115 Question Id : 34212314183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Peace making criminology believes in:

A. Humanism reduces crime

B. Believes in mediation

C. Peace can reduce crime

D. Class conflicts create crime

E. Male-domination creates crime

Choose the correct answer from the options given below:

1. A, B, Conly

(]

.B. C,D only

5]

.C,D, E only

4. A, D, E only



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212314183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%WWWW~WﬂW[WW}ﬁﬁmﬁﬁWWW

A, HHGd1ETG U R FH R ¢ |
B. AR/ H [4%R el o

C. M 3y | et o el |
D. - HH G IR 5 ¢l G |

E. T - G4% Y SfIR1Y oF ol g

i iU e faehedl # © gpt TR 1 T DI
1. T A, B, C
2. B4 B, C.D
3. %40 C, D, E
4. HATA,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are related to life course theory:

A. Impulsivity

B. Existence of multiple pathways to crime
C. Multiple classes of criminal

D. Crime and causes are interactional

E. Oppression

Choose the correct answer from the options given below:

1. A, B, Conly

(]

.B. C,D only

5]

.C,D, E only
4. A, D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeRad & T S19-Y Sita HRUT igid I Jefid g2

A. ATATRAdT

B. WY & 3 ARl &1 2A¥cdd | g
C. RISl & =% a1 &1 gl

D. AWRTY 3R BRI A IHITHS g |
E.GHA

- feu T fadetl § ¥ 8T IR B 90 DI
1.hddA. B, C

. $HddB.C,D

. HAdC, D, E

4. PdAA. D, E

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are criminological perspective?
A. Process Perspective
B. Biological Perspective

C. Structural Perspective
D. Conflict Perspective

Choose the correct answer from the options given below:

1. Aonly

I3

.A. B only

LS

.A, B, Conly

4. A, B.C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fgfaRad § 9 SH-U 2uR1y {931 uRued g2

A. Ufdear giuey

B. Siid faxHT URRued
C. IRTFAIHS uRY&d
D. Y9y ufveg

A fGu e fasel & 9 HgT IR D1 9G1 BT
I had A

HAdA. B

3. HdAA. B, C

4. Hdd A, B.C.D

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 118 Question Id : 34212314186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following convey intention in law?

A. Willingly

B. Commission
C. Knowingly
D. Actual Reus
E. Willfully

Choose the correct answer from the options given below:

1. A, B, Conly

(]

G, D, E-only
3.B.C,Donly

4. A, C,E only



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAaferRad § O -1 fafd H 3=/ &l Juitd Hdl g2
A, T30
B. HIU-HUIGH
C. AR
D. T3l
E. 9=
A feu U faw eyl H§ U gatT 3R &l 994 HifoIe:

1.hdd A, B, C
$dd C, D, E
. $Hdd B, C, D
4. PAA A, C. E

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 119 Question Id : 34212314187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What are the characteristics of mandatory sentence?

A. Neighbourhood Watch

. No discretion to judge

Obligation to impose a type of sentence
Obligation to impose a length of sentence
Oftender profiling

m T 0w

Choose the correct answer from the options given below:

1.C,D, E only
2.B,C,Donly
3.A.B.Donly

4. A, B, C only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS GG &I AN dH-DH Ul g2

A. USTY H Yddbdl SR (TSI [GaTell)

B. A1 H3 &1 [ddBIEHR A gHT|

C. U UHR B Gala ARITT B Dt a1e4d1 gl
D. GOl I 3 RIS B DI d1edl gl

E. A1 i Gi&r St (Ambrsie)

1 feu U fadhedl § U gaT IR Bl 994 DHifoie:
1.HddC, D, E
2. $Had B, C.D
3. Pdd A, B, D
4. HddA, B, C

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are related to official statistics in India?

A. Crime in India data

B. (UCR) Uniform Crime Reports
C. Police Recorded Crimes

D. N.C.R. (National Crime Reports)
E. NCRB data

Choose the correct answer from the options given below:

1. A, B, Conly

(]

.B. C,D only

5]

.B. D only

4. A, C,E only



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafaRad # 9 oH-8 YR H 2AfDRe e I d&fd g2

A. HRA H 3Ry U Yeied siidg

B. g, Tl. 3R, (A6 hizd RUid)
C. GfeTT gR1 &of [T 71T SuRTY
D. T4, 1. 3R, (ARHd hIvH RUid)
E. U4 91 3R, &l & 3

Hid feu U fqdedi § U ol IR &1 99 I
. Hdd A, B. C

2. $ddB.C.D
3. HddB.D
4. HAAA.C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are related to Retributivism?

A. Expiation

B. Restoration

C. Rehabilitation

D. Vengeance

E. Eye for an Eye principle

Choose the correct answer from the options given below:

1. A, B only

(]

. B. C only

5]

.C.D only
4. D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad # 9 oM - 9 ufdeRt < ¥ defid g2

A, UTafgd
B. U1 &IUH
C. gHdg
DIIGEUL]
E. 3 & T W 3@ &1 gid
44 feu T fadedl © O gat IR 1 99 HifoIT:
|. hdd A, B
$HddB. C
HAAC.D

4. H9dAD. E

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are causes of violence?

A. Personal Traits

B. Human 1nstinct

C. Substance Abuse

D. Socialisation

E. Exposure to violence

Choose the correct answer from the options given below:

1. D and E only

b3

. C and D only

[

.B, C,Donly
4.A,B,C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad # 4 o4 g9 & RU g2

A. ST &I
B. HIFd &l YAV

C. HIGdH & B g udi]
D. TTHTSIHRT

E. [gar 9 3Rfgradn

I feu MU 9 el & 9 FgT SR b1 T8 BHIfSIT:
|.hdd D 3R E

Hadc 3R D

3.$ddB.C.D

4. HIAA.B,C.D.E

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 123 Question Id : 34212314191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are basic principles of restorative justice?

A. Shaming 1s a powerful tool

B. Stigmatization is important.

C. Crime is against Human Relationships.

D. First priority is to assist victims

E. Vietim and community play an important role.

Choose the correct answer from the options given below:

1. A and B only

(o

.A, B, Conly

5]

.C,D, E only

4.B,C,Donly



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafifad ¥ 9 oH-9 Yo UM (ERfed 9iey) & muR-Regid g

A. AITd SR G F14H (SYHRUN) ¢

B. fHeT H31 AUt 3

C. 3WRTY, A9 Yl b fdv g _
D. Ugal Uil tifedl &l geddi ol o
E. UifSd 3R 9qe™ Agdqul YfHdT FHId ¢

id feu U fadhetl € 9 g7 IR &I 98- HIT:
|.$hdd A AR B

2. hdd A. B. C
3. HAd C.D.E
4. $IAB.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The purpose of victimization survey are:

A. Accurate measure of crime rate

B. Know about number of convictions

C. Final gap between official crime and unreported crime
D. Know about number of prison sentences

E. Nature of crime victims

Choose the correct answer from the options given below:

1. A, B, Conly

(]

.B. C,D only

5]

. A, C.E only
4.C,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRR EUIRER Bt IR

A. R1Y B Tl (URY) A1

B. QIS Bl T & aR H S

C. DTN T Y Gl U 7T 3R Gl 7 T T SORIY] & dTd 3R 1 el
D. BRITR (S, & Gl & U8 & a1 H S

E. 314 I difSdl &l uopld

d feu U fadedi ¥ 9 F8T IR B 90 il
1. Hdd A, B, C
2. $4dB,C.D
3. $dAA, C.E
4.$aC, D, E



Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are areas of victimology?

A. Conducting survey

B. Penal Philosophy

C. Assessing Victimisation Risk
D. Causes of Crime

E. Studying victim capability

Choose the correct answer from the options given below:

1.A, C,E only

b3

. A, B, Conly

[

.C,D, E only
4.B, C, D only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafatad 7 9 oMH-g fafaearars & a9 g2

A. A& HAT

B. GilS® &%

C. Ide SIRaH &l Ui Bl
D. AURTY HT BRI

E. UIfSd &1 HaIvdl &1 30+ SRl

= lGu U faheal § O gt IR 1 991 DIl
|.hdd A, C.E

2. HAAA.B. C
3. H9dC.D.E
4. HAdB.C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LIST 1 LISTII
A | Tolerance I | Domestic violence
B. |5tockholm syndrome| II. | Drug addiction
C. | Social engineering ITI. | Environmental crime
D. |Excessive logging IV. | Cyber Crime

Choose the correct answer from the options given below:
1. A-IV, B-IIL C-II, D-I
2. A-II, B-1, C-IV, D-III
3. A-L B-IL, C-IV, D-III
4. A-1, B-1I, C-111, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

Gl T
B EEEING] L (e
Wipaw M | 1L |ge® 5o Ua
IR SOl | 1L | 9giarr 3 oS SRy

TRYE R | v | A
4 fou U fadhedl H T gt 3R &1 99 Hifee:

1. A-IV, B-III, C-II, D-I

olo|w|s

[

. A-II, B-1, C-IV, D-11I

5]

.A-1, B-11, C-IV, D-III

4. A-1, B-11, C-I11, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A |Focuses on Environmental harms [ |Harm Reduction
B. |Dealing with social and health related 1ssues especially with drug policy | II. | Green criminology
C. | Crimes motivated by bias, prejudice IIL | Terrorism
D. |Violence designed to influence Government IV. |Hate crimes

Choose the correct answer from the options given below:
[. A-I, B-IL, C-IIL, D-IV
2. A-L B-II, C-1V, D-III
3. A1, B-I, C-IV, D-ITI
4. A-IV, B-IIL, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

Gl Sl
A |voieor  defia B ® Goia B o L |G HSH G
5 WWWW@W@@%@M&WW . |efe s R
C. a9z, U&ord gRT Uivd SRy I11. | 3darg
> |weREmRTT SR A Al
=d fGU U fadhedl # U WET IR & 94 Biloe:

1. A-L B-II, C-II1, D-IV
2. AL B-IIL C-IV, D-III
3. A-IL B-I, C-IV, D-III

4. A-IV, B-IIL, C-II, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LIST1I LISTII
Femission [ |Legislative system
Probation II. |Investigative system

Creating special laws | III. | Correctional svstem

olo|w|s

Beats and Patrols IV. | Adjudicating system

Choose the correct answer from the options given below:
1. A-IV, B-IIL. C-1, D-1II
2. A-1, B-II, C-III, D-IV
3. A-IIL B-IV. C-I, D-II
4. A-IV, B-III. C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



a1 1Y Gt 11 & e Bifse

el T I
frfrog I |faemdi womed
afdian 11 |39 3 SS! yorel
a2y fafy e L | YR B Teielt worreil

o2y UaH Ueia (T=d fohdl - arell gabn) | IV, | =91 Horfaes yomedt
A 4T U fadhedl § U IFt IR &l 99 DIIT:

1. A-IV, B-III, C-1, D-II

olo|w|»

I3

. A-I, B-II, C-III, D-IV
3. A-II1, B-1V, C-1, D-II

4. A-IV, B-II1, C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A |Pleasure Principle I. |Super Ego
B. |Moral Principle II. |1d
C. |Reality Principle [II. | Catharsis
D. |Free Association talk | IV. |Ego

Choose the correct answer from the options given below:
1. A-II, B-1, C-1V, D-III
2. A-1, B-II, C-III, D-IV
3. A-L B-IL, C-IV, D-III
4. A-IV, B-III. C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T &
faama fogia L (g
EIGEAL AR 1L |3§

rdfdddl [gid 11 | R (@)
T TOITUEE ardiand | v, |39

4 fou U fadhedl H T gt 3R &1 99 Hifee:

1. A-IT, B-1, C-IV, D-III

olo|w|s

[

. A-1, B-1I, C-III, D-IV

5]

.A-1, B-11, C-IV, D-III

4. A-IV, B-III. C-I1. D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A |Atavism I. |Charles Darwin
B. |Natural Selection | II. |Cesare Lombroso
C. | Jukes famaily III. |Christiansen
D. | Twin Studies IV. |Richard Dugdale

Choose the correct answer from the options given below:
1. A-IV, B-IIL C-II, D-I
2. A-II, B-1, C-IV, D-III
3. A-IL, B-IV, C-I, D-ITI
4. A-1, B-1I, C-111, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

T 1 T
A |werfasH I |4 Srfda
B |“gRa daeRH | I | HioR di
C. |vge el | 1L | fpfea=wA
D |ffawde |1 [REdsnea

4 fou U fadhedl H T gt 3R &1 99 Hifee:

1. A-IV, B-III, C-II, D-I

[

. A-II, B-1, C-IV, D-11I

5]

. A-IL B-1IV, C-1, D-IIT

4. A-1, B-11, C-I11, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A | Graffin [ |New York Police Department (NYPD)
B. |Broken Windows Theory Il |British Police Foree
C. | Zero-Tolerance Policy II | Writing/Art on Public Walls
D. |Anti-social behaviour strategy | IV | Intended behaviour leads to breakdown of community control

Choose the correct answer from the options given below:
[. A-IV, B-IIL, C-II, D-1
2. A-IV, B-II C-[, D-II
3. AL B-II, C-III, D-IV
4. A-IIL B-IV. C-1, DI

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hid feu U faded! § U gt SR &1 944 DI

1. A-IV, B-III, C-1I, D-1

ol|lo|w|s

2. A-IV, B-II, C-1, D-II
3. A-L, B-II, C-III, D-IV

4. A-IIL B-1V, C-1. D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTIT
|(Elements of Social Bond) (Meaning/Example)
A | Attachment I. |to career, success a-.nd goals
B. | Involvement II. |to family, friends, community
C. | Commitment ITII. | Honesty, Morality, Fairness
D. | Belief IV. | School activities, sports, community, religion

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I
2. A-1V, B-1I, C-1, D-111
3. A-1, B-1I, C-IIL, D-IV

4. A-I1, B-IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1D 1Y Gal 11 6 e Sifor

A | R I |, Gbeid 3R wedl & Ui

B. | 3mapd 1L |gRER, it R 9e™ & Ufd

C. |ggaga 1. |39HGR], Afd@dr, Ea

D. |faarg IV. |%5d B Tafaiid], @ade, 99a, iH
i feu e fad el & 9 gt SR &1 994 DI

1. A-IV, B-IIL C-II, D-I

[

CA-IV, B-1I, C-1, D-III

LS

. A-L B-I1, C-HIL, D-IV
4. A-11, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II

LISTI LISTII
(Theory) (Major Premise)
& | s Goal Theare [ ‘igmh lem ways to manage morality and drift in and out of
a criminality
B. |Neutralization Theory II. |People learn to committing crime
C. |Labelling Theory III. | A person's bond to society prevents him from committing crime
D Differential Association Iv People enter to crime when they are dealt with secondary
" | Theory " | deviance

Choose the correct answer from the options given below:
L. A-IIL, B-1, C-IV, D-II
2. A-IV. B-III, C-I1. D-I
3. A-LB-II C-11, D-IV

4. A-L B-IL C-IIL D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL, B-1, C-IV, D-II

2. A-IV, B-IL, C-II, D-1
3.A-L B-III, C-I1, D-IV

4. A-L B-IL C-IIL D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
(Theory) (Proponent)
A | General Theory of Crime and delinquency| 1. | Gotfredson and Hirschi
B. | Self Control Theory II. |Robert Agnew
C. | Control Balance Theory III. | Mark Colvin
D. | Dufferential Coersion Theory IV. | Charles Tittle

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I
2. A-IL, B-1, C1V, D-III
3. A-1, B-II, C-1IV, D-11I

4. A-I, B-I1, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-II, D-I

(]

CA-IL B-1, C-IV, D-III

L]

. A-L, B-IL, C-1IV, D-III
4. A-1, B-11, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II

LISTI LISTII
A | Justiciable Rights I. |Dving Declaration
B. |Non-Justiciable Rights II. |Fundamental Rights
C. |DK Basu Guidelines III. | Directive Principles of State Policy
D. | Statement to Magistrate before death, by victim | IV. | Principles for Arrest

Choose the correct answer from the options given below:
1. A-IIT, B-IL, C-IV, D-I
2. A-II, B-III, C-IV, D-I
3. A-L, B-II, C-III, D-IV
4. A-IV, B-IIL, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IMI, B-IL, C-IV, D-1
2. AT, B-IIL, C-IV, D-1
3. A-LB-II, C-IIT, D-IV

4, A-IV, B-IIL C-II, D-I
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-II

LISTI LISTII
g G Juvenile Justice (Care and Protection of
A | Community Service Order L Children) Act (2015)
B. |Shelter homes Il |Bharativa Nyaya Sanhita (2023)
Admissibility of Electronic/Digital records as Bharativa Nagarik Suraksha Sanhita
€| 11
evidence (2023)

D Expansion to include Forensic Evidence 1n offences
" | punishable more than 7 vears

IV. |Bharativa Sakshyva Adhintyam (2023)

Choose the correct answer from the options given below:
1. AL B-1, C-III, D-IV
2. A-IV. B-III, C-I1. D-I
3.A-L B-IL C-11, D-IV

4. A-IL B-L, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IL B-I, C-IIL, D-IV
2. A-IV, B-IL, C-II, D-1
3.A-L B-IL CII1, D-IV

4. A-IL B-L, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LIST II

Testing the tool I |Plagiarism

Identifving gaps in current knowledge | II. |Pilot research

Statement to be tested III. | Literature Review

olo|w|s

Passing some one's work as one's own | IV, | Hypothesis

Choose the correct answer from the options given below:
1. A-1, B-II, C-IIL, D-IV
2. A-IIL, B-II, C-1, D-1IV
3. A-II, B-III, C-IV, D-1
4. A-IV, B-III. C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I. AL B-II C-III, D-IV
2. AIIL, B-II, C-L, D-IV
3. A-IL B-IIL, C-IV, DI

4. A-IV, B-1I1, C-I1. D-1
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A | Bringing to original status I | Expiation
B. | Making the offender feel II. |Restoration
C. | Neutralizing the power of the offender III. | Reformation
D. | Attempting to change the behaviour of the offender | IV. |Incapacitation

Choose the correct answer from the options given below:
1. A-IL, B-1, C-IV, D-II
2. A-IV, B-III, C-II, D-I
3. A-IL, B-I, C-III, D-IV
4. A-L, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II, B-1, C-IV, D-III
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2. A-IV, B-III, C-II, D-I
3. A-Il, B-1, C-1I1, D-1IV

4. A-1, B-1I, C-III, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List-I with List-IT

LISTI LISTII
A | Correctional institution for men and women | [ | Vigilance homes
B. |Institutions for women II. | Central Jails
C. |Institutions with mimmum security III. | Probation
D. | Non-institutional corrections IV, | Open prisons

Choose the correct answer from the options given below:
1. A-IV, B-IIL C-II, D-I
2. A-II, B-1, C-IV, D-III
3. A-1, B-IL, C-III, D-IV

4. A-1L, B-1, C-1IL D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-II, D-I
2. A-11, B-1, C-1IV, D-1IIT
3. A-1, B-11, C-I11, D-IV

4. A-11, B-1, C-I11, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id
Correct Marks : 2 Wrong Marks : 0

: 34212314208 Question Type : MCQ Option Shuffling : No



Match List-I with List-IT

LISTI LISTII
Child Welfare Commuttee 1. | Children in conflict with law

Minimum Rules for Juvenile Justice II. |Riyadh Guidelines

Observation home [1I. | Children in need of care and protection

ola|w|»

Focusing on Prevention of Delinquency | IV. |Beyjing Rules

Choose the correct answer from the options given below:
1. A-L, B-IL, C-III, D-IV
2. A-IV, B-1II, C-II, D-I
3. A-IIL, B-1V. C-1, D-II
4. A-IV, B-II, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
2. A-IV, B-III, C-II, D-1
3. A-IIL, B-1IV, C-1, D-II

4. A-IV, B-1II, C-1, D-TI

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 342123556
Question Shuffling Allowed : No

Question Id : 34212314209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the passage given below and answer the questions:

The title of the article by James Wilson and George Kelling, published in 1982, in which they
argued that successful community crime prevention must involve a focus on relatively minor
forms of disorder — such as vandalism and graffiti — as well as targeting more serious offences. It
is the low level incivilities, they argue, that undermine local social cohesion, with the likelihood
that more serious crime will flourish. This *philosophy” is closely associated with so called zero-
tolerance policing in New York City and with the British Government anti-social behaviour
agenda.

Sub questions



Question Number : 141 Question Id : 34212314210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is considered as minor form of disorder?

1. Zero tolerance

2. Graffiti

L

. Soclal cohesion

4. Social Behaviour
Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Zero Tolerance Policy is associated with:

1. Australia

[

. USA
3. UK

4. New Zealand
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



From the Paragraph, given above, which among the following is considered as low level
incivility?

1. Zero tolerance Policing
2. Serious Crime
3. Social Cohesion

4. Minor form of disorder

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Anti-social behaviour agenda is associated with which of the following?

1. United Kingdom

I3

. China

3. United States of America

4. India
Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In vour opinion this paragraph deals with which of the following?
1. British Crime Survey (BCS)
2. Due Process and Crime Control
3. Broken Windows
4. Cultural Criminology

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314209 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212314210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 142 Question Id : 34212314211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. Juyy
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4. AU

Options :
1.1
2.2
3.3
4.4

[

Question Number : 143 Question Id : 34212314212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1
2.2
3.3
4.4
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Sub-Section Number : 3
Sub-Section Id : 342123557
Question Shuffling Allowed : No

Question Id : 34212314215 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage given below and answer the questions:

Due process and crime control are terms associated with Herbert Packer to distinguish two ideal
typical approaches to criminal justice. Each is characterised by different values and objectives.
Crime control approaches tending to emphasising the importance of convicting the guilty and due
process approaches placing greater emphasis upon the importance of protections against the
wrongful conviction of the innocent.

Sub questions

Question Number : 146 Question Id : 34212314216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Securing a punishment to a guilty person is called:

1. Protection against wrongful conviction

(i)

. Crime Control
3. Differential Objective

4. Due Process
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The values and objectives of Crime Control and Due Process are:

1. Identical

(]

. Varied

(8]

. Integrated

4. Unanimous
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212314218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Focusing on assisting people against malicious prosecution and conviction is called:

1. Crime Control
2. Value System
3. Criminal Justice

4. Due Process
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212314219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

While emphasizing on Criminal Justice, Herbert Packer focused on, which of the following
terms?

1. Crime Control and Due Process
2. Due Process
3. Crime Control

4. Protection against wrongful conviction

Options:
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following is considered as an approach to Criminal Justice?

1. Protection
2. Values
3. Due Process

4. Conviction
Options :
1.1
2.2
3.3
4.4

Question Id : 34212314215 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212314216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212314217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 148 Question Id : 34212314218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 149 Question Id : 34212314219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212314220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
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